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#include <stdio.h>
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x= atb-c
20

Foueudiumdaiuiinaimandiamaniaail
x = (a+b-¢)/20;
dhethadi 3.2 Tsunsummasmveaaus iy 2 $11u fisutoyanndld
#include <stdio.h>
void main(void)
{

int x,y,z;

printf("Enter X value :");

scanf("%d",&x);

printf("\n Enter Y value :");

scanf("%d ",&y);

z=Xty,;

printf("\n Summary of X and Y is %d",z);

o < @ A
Waﬂ1§ﬂ1QTHm@QIﬂiuﬂiurﬂu@Qﬂ1WV|32
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Enter Y value : 20

Summary of X and Y is 35
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X =15;
y =10 +x++ * 4;
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y =10+ (x*4);
X =x+1;
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daeensdi 3.3 misldmadufiunsiiium
#include <stdio.h>
void main()
{
int x,y;
x=1;
y = Xt+;
printf(" y = %d\n "y);
y = ++x;

printf("y = %d\n",y);
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feehaft 3.4 uaasswansuiouiion
#include <stdio.h>
void main()
{
int x,y;
printf("Please Enter X =");
scanf("%d",&x);
printf("\n Please Enter Y =");
scanf("%d",&y);
printf("\n X > Y is %d".x>y);
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y =(a>b)?a:b;

1 =) = 1 % 1 U 1
neanuN wimadseuneumluainds a taz b nou minawds a winnn

J a o 1w 1 I (] 1w
dus b a3 w1 y Y a uavailufa y 93mi b

o 4 o J ° ] o @ J
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duls vy 1uaaatdny X more than Y uavinn 13151 uanadan1y X not more than Y

#include <stdio.h>
void main()
{
int x,y;
printf(" Please Enter X=");
scanf("%d",&x );
printf("\n Please Enter Y=");
scanf("%d",&y);
(x>y)?printf("\nX more than Y") : printf{(" \n X not more than Y");
}
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Please Enter Y = 25

X more than Y
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Y
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M3NAanatlazumsMuIBMAIRIE IFUANUEIMY X 182 y ANNGIAY y
o 49’ ~ A A 1 a [ ~ d'9} 1
sazmumiunvesglaumasuneguuns v Inoediua x,y aslunini 3.6 Taghin1ga
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o v v A

TaooAuALied 2 90 Aoga A(1,1) 1aza B(4,5) Falidiautuneunisnaaoasil

L |

B(3,4)
.

A(LD) %

¥
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= a4 4 a
HNN 3.6 i]ﬂﬁnJWiafJﬂJT]E)Q‘]Juﬂi1WIﬂ’E]’E]ﬂLuG] X,y

1) Alaldsunsunonlwaes Turbo C tag a¥1alwd vy
2) weuldsunsuasludanmosmuaiosie T sunsy S8
#include <stdio.h>
#include<conio.h>
#include <math.h>
void main(void)
{
int Ax,Ay, Bx, By;
int x,y;

float z,Area;

clrscr();
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y =By- Ay;
z = sqri(x*x + y*y);
Area = (x*y)/2 ;

printf(" **********************************\n");

printf(" *This is calculate Triangle parameter *\n");
T L T
printf(" Side x =%d\n",x);
printf(" Side y =%d\n",y);
printf(" Side z =%.2f\n",z);
printf(" Area =%.2f\n",Area);
getch();
}
3) Wuiin TWd ludlu g program3_1.c
4) ifenmda Compile tazliiufinna
5) idonAmde RUN uag lfiufinnanmsnaaed



a 14
ms lsunsuneununes 87

d' 1 =S Iq d
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aFea UEAAIHALUIBN TN ST LT LABLAINARDIRIT
1) alaTsunsunonlwass Turbo C uag adr1a'lWd v
2) WeuTsunsuasluddamesaudedialisunsy Sail
#include<stdio.h>
#include<conio.h>
void main()
{
int C=60;
float F;
clrser();

printf(" ********************************\n");

printf("* Calculate temp C==> F *\n");
printf("*********************************\n");
printf("\n");
printf("\n");
F=1.8*%C +32;
printf("\nThe Fahrenheit temperature =%.2f ",F);
getch();
}
3) Wuin lWd ludlu g program3 2.c
4) Aonfd Compile tazl@iudinwa
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A o W Yo =K
5) 1a9NA1HY RUN Lu,aﬂwuuwﬂwamﬁmam
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2) WeuTisunsuadludaameimudiednalisunsy fail

#include <stdio.h>

#include<conio.h>

#include <math.h>

void main(void)

{

float radius,Area,Circum,;

const pi 3.14;

clrser();



90 HUIGFIUN 3

printf(" **********************************\n");

printf(" *This is calculate Circle parameter *\n");
printf(" **********************************\n");
printf(" Please enter the radius of circle = ”);
scanf("%f”,&radius);
Area = pi*radius*radius ;
Circum = 2*pi*radius;
printf("\n Area =%.2f\n",Area);
printf(" Circum of circle =%.2f\n",Circum);
getch();

}

3) Wudinlnla T lnld program4_1.c

4) ifenmda Compile tazliiufinna

A o o Yo =K
5) 1a9NA1EY RUN uaﬂwuuwﬂwamfmﬂam
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2) WeuTisunsuadludaameimudiednalisunsy Sail
#include<stdio.h>
#include<conio.h>
void main()
{

int C;

float F;

clrser();

printf(" ********************************\n");

printf("* Translate Temp C ==>F *\n");
printf("*********************************\n");
printf("\n");
printf("\n");
printf(" Please Enter Temperature of celsius = "); scancf("%d",&C);
F=1.8*C +32;
printf("\nThe Fahrenheit temperature =%.2f ",F);
getch();
}
3) WudinlWa il g program4 2.c
4) @ends Compile wazliuiinma
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